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Q1 Br fod sRS &I fquiad 82
Ans  of 1 Tay !

75 2. 3iftrmRur @t
X 3. TueE 3
25 4. 3UTEH B

Question ID : 86440717
Status : Answered
Chosen Option : 1

Q.2 #(1)/ 3 | (2) / FH Y AT A (3) / DT (4) / 91 a9 (5) / T (6)

PH T/T (1) 3R (2) F T1C ATHT HI=T BT T! HH T N2
Ans X" 1.5 36,4
W 23564
75 3.3,6,4,5
X 4.56,4,3

Question ID : 86440782
Status : Answered
Chosen Option : 2

Q.3 fyRifad ¥ 19 91 W 9T 781 82
Ans X 1 UF

X 2.qeqd
< 3. T

o 4 T

Question ID : 86440748
Status : Answered
Chosen Option : 4

Q4 fgfafead & A o199 91 g a1g’ &1 waigar 22
Ans X 1. pEd
< 2. 3iftm
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Question ID : 86440736
Status : Answered
Chosen Option : 3

Q5 fgfifaa & d 19 w1 s ol $1 gafgar T8 82
Ans X' 1. FTH

of 2. T

X 3. fevoa

X 4.5

Question ID : 86440738
Status : Answered
Chosen Option : 3

Q.6 Yo RIM & Y Suga eg 1 §TI?
ATA®BT_ SIEEI
LU SR
o 2. enar
X 3. FWd

X 4. 98T

Question ID : 86440731
Status : Answered
Chosen Option : 2

Q7 oe-fird @ geTay &1 ad o 7 32
Ans x1.mﬂﬁ7ﬂ

/X 2. @Ifey

W 3 sEag AR BT

7K 4 drEr e

Question ID : 86440761
Status : Answered
Chosen Option : 3

Q.8 fYad =M & o Iuged =g 71 EII?
A UE S VT P GHaR &) g6 fires mm
Ans X 1 ER
25 2. ¥
of 3 T
X 4.

Question ID : 86440735
Status : Answered
Chosen Option : 3
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Q.9 FrafifEd # & aeT U 71 22
Ans ' 1. TS

X 2. foan

o 3@
/< 4. T

Question ID : 86440747
Status : Answered
Chosen Option : 3

Q.10 yfaHr T § P A1 IH Y 22
Ans X' 1.gg

X 2. qgey

X s f5

of 4. oot v

Question ID : 86440759
Status : Answered
Chosen Option : 4

Q.11 fgfafed § & dga s |12
Ans X 1.9d

X 2 dcs

W3 mw

X 4Tc

Question ID : 86440746
Status : Answered
Chosen Option : 3

Q.12 fafifad & @ S99 999 g5 82
Ans " 1. gl ofUl GRIER PR ST

25 2. Tt oo gEaeR fora i
o 3. 75T 3R TEER R @l
#< 4. T8T 3O GEAER &1 ST

Question ID : 8644078
Status : Answered
Chosen Option : 3

Q.13 frgfafad &  $19 91 e g 22
Ans  off 1 Wi e I W B

X 2. i TeT M e B
X 3. i e T e 3|
* 4 e T B
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1 1 Ao oA 11

l Chosen Option : 1 J

Q.14 gUR (1) / TA ¥ (2) / UST (3) / & (4) / wRefi=raT P (5) / IfST (6)

P T/T (1) 3R (2) F TIC ATHT HI=T BT AT HH T N2
Ans X' 1.6,5,3, 4

/X 2.3,4,6,5
/X 3.5,6,4,3
of 45634

Question ID : 86440780
Status : Answered
Chosen Option : 4

Q.15 fagfefad d @ o9 91 e IRunds fohar g2
Ans " 1 SitdT

/X 2. S
X 3. 3l
o 4 3T

Question ID : 86440714
Status : Answered
Chosen Option : 1

Q.16 Fpa frae! vafaard 82
Ans X' 1. qW &

X 2. da @

W 3 m@

/X 4. BT BT

Question ID : 86440739
Status : Answered
Chosen Option : 3

Q.17 'ggd 3eHT ¥ 9ga {59 yeR F1 faivor g2
Ans X' 1 fafyq Seaas

/X 2. G
W 3. 3T Seares
/X 4. oo Siys

Question ID : 86440713
Status : Answered
Chosen Option : 3

Q.18 ZgTq AW dredT 21" IH 9T § B AT Mg Fobam farsiwor 872
Ans X' 1. TOH

o 2o
X 3.3
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Question ID : 86440728
Status : Answered
Chosen Option : 4

Q.19 T @t =R @ Frufifla § & o9 91 v oE 87
Ans X' 1 §HT

X 2. @=g
X 3 wi@
W 4 Tarsa

Question ID : 86440749
Status : Answered
Chosen Option : 2

Q.20 975! ATR! fHy TR BT 3T B2
Ans  of 1 g SIS

75 2. 2% quw

/< 3. o Sie

/X 4. GEeE dye

Question ID : 86440727
Status : Answered
Chosen Option : 1

Q.21 Freggr o1 dfY RAde w1 @
Ans X" 1 3+ Ty

XZ.:ﬂ:+q&‘f
X 3. Fuy
«4.ﬁ:+q&f

Question ID : 86440756
Status : Answered
Chosen Option : 4

Q.22 fmfafa & | $19 a1 T = 22
Ans  of 1 sigw & oF® AH

X 2. fipw & o\ F AT B

X 3. W & sHe T F

X 4. fPW & D! 91 g1

Question ID : 86440710
Status : Answered
Chosen Option : 1

Q.23 g Ay F 3d F e Iugea Awife w1 82
Ans X 1. G & airer e
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Question ID : 86440762
Status : Answered
Chosen Option : 2

Q.24 @ e wafgar! 872
Ans X' 1 FHTA BT

X 2. dem e
of 3. s
X 4 faRu e

Question ID : 86440737
Status : Answered
Chosen Option : 3

Q.25 ot & AR M gemarar areniw & e Fafif@q # @ #1991 e gime?
Ans & 1 et

/X 2. vfermret
o 3. s
/X 4. sm

Question ID : 86440752
Status : Answered
Chosen Option : 3

Q.26 "3RI F1 e 2eg 71 g2
Ans " 1 dfera

X 2.3
o 3 fRfE
/X 4 fovad

Question ID : 86440743
Status : Answered
Chosen Option : 3

Q.27 39 (1) / Q&P & (2) / Webfera (3) 1 B (4) 1 Q BiIaTE (5) 1 B (6)

P T/AT (1) 3R (2) F FIC ATH HIET BT TE! HH T N2
Ans  of 14536

/X 2.3,6,5,6
/X 3.3,6,4,5
/X 4.5,3,6,4

Question ID : 86440781
Status : Answered
Chosen Option : 1
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Q.28 TR 7 (1) / B4 W (2) / SIS T (3) / B H (4) ATRT W1 BT el 56 T gII2
Ans X" 11,342

21423
75 3.2,3,1,4
X 4.4,3,1,2

Question ID : 86440787
Status : Answered
Chosen Option : 2

Q.29 gd-t F1 R A FefRT A A P T v< Y 872
Ans X 1 SrefeTe

X 2. AT
o 3. srefaes
X 4. e

Question ID : 86440750
Status : Answered
Chosen Option : 1

Q.30 f¥aa R & 1T Iuyga reg 41 g2
# = B AT
Ans x 1. 3MUPT
o 2 s
/< 3. 3!
X 4. Ut

Question ID : 86440733
Status : Answered
Chosen Option : 2

Q.31 fmfiafaa & & S 91 g 91T 37 yafgar 82
Ans x 1. 89 P

W 2 RE @

/X 3. 315 B

X4 afaE

Question ID : 86440740
Status : Answered
Chosen Option : 4

Q.32 ga a4 T F 3 ¥ e wd gera | 82
Ans X' 1. Sfceral Ise

/X 2. IR 3ds T
W 3 D aRE g
X 4. AT
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Status : Answered
Chosen Option : 3

Q.33 o) HfSTar ¥ R WA 1 F e FAefafRe § #1991 3 g
Ans x 1, Wiy

75 2. s
7 3. 9fay
of 4 Ry

Question ID : 86440754
Status : Answered
Chosen Option : 4

Q.34 IFPT (1) / WIS (2) / WY A (3) / [AP (4) IR T BT TG 569 FIT gRM?
Ans X' 1.3,1,2,4

K 2.1,4,2,3

K 3.2,4,1,3

o 41243

Question ID : 86440785
Status : Answered
Chosen Option : 4

Q.35 fFafifEd & & @i a1 e Feraras ad=m 82
Ans x 1.4

o 2 am

K3

X 4 #

Question ID : 86440711
Status : Answered
Chosen Option : 2

Q.36 HUT (1) / B (2) / ® TY, (3)/ T U (4) TS A1 BT S} 67 T N2
Ans  of 13412

K 2.4,1,2,3
K 3.3,1,2.4
X 4.4,3,1,2

Question ID : 86440786
Status : Answered
Chosen Option : 1

Q.37 fomfofea & @ &9 a1 2 gied 82
Ans X 1 3R

o 2.3
X 3.5
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Question ID : 86440719
Status : Answered
Chosen Option : 2

Q.38 | A Y¥q® UL 3 1' 3 AT W B T BT 82
Ans X 1. FH IaHE

/X 2. A adHE
o 3 oo adam
75 4. Sfewy gamm

Question ID : 86440726
Status : Answered
Chosen Option : 2

Q.39 fgffea o @ o9 a1 9 g5 272
Ans  of | T AR

X 2. A% HgeA g
X 3. W H Yo &
X 4 BRAE A gEE R

Question ID : 8644077
Status : Answered
Chosen Option : 1

Q.40 frgmre § B |1 W 82
Ans x 1. g1

X 258

/X 3. sl g

W 4 g

Question ID : 86440757
Status : Answered
Chosen Option : 3

Q.41 *3=3yor H1 4y fawde = gm?
Ans x 1. 3 + THOT

o 2.3+ ToO

/X 3. 37 + quor

2X 4. 3L+ qum

Question ID : 86440758
Status : Answered
Chosen Option : 2

Q.42 fomfafaa & | S a1 g Wi 82
Ans X' 1. g0
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Question ID : 86440720
Status : Answered
Chosen Option : 3

Q.43 RMET ¥ yPR PT faigor 32
Ans X' 1. SHAEES

/X 2. IS
75 3. aRmAmEYS

o 4 TS

Question ID : 86440712
Status : Answered
Chosen Option : 4

Q.44 fYga R & T IUga eg 1 EIT?

ERecl| TfRTI
Ans X1-W
X 2. B
/X 3. @

o 4 T

Question ID : 86440734
Status : Answered
Chosen Option : 4

Q.45 fogfefeaa # & o1 a1 avf 9y quf g2
Ans  of 1 g

K 2.y

X 3w

X 4T

Question ID : 86440723
Status : Answered
Chosen Option : 3

Q.46 Y 7 ST 4T 8T AT F e Fraferf@a # ¥ @1 91 g g
Ans  of 1 s

X 2.9

X 3.9

75 4. fafx

Question ID : 86440753
Status : Answered
Chosen Option : 1
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Q.47 HIAT §I' AT H BIH T B 52
Ans (1-3@%

X 2. 9w

< 3. 9w gdEE

X 4. g

Question ID : 86440730
Status : Answered
Chosen Option : 3

Q.48 BT &1 fadiiy Ueq T ERI?
Ans X 1 &

25 2. oM
Vs
P R

Question ID : 86440745
Status : Answered
Chosen Option : 3

Q.49 oy &1 |fY fasde wam ghm?
Ans X 1 T+ AW

o 2. T+ d

X 3 T+ A

X 4T +aw

Question ID : 86440760
Status : Answered
Chosen Option : 2

Comprehension:

AR A difie IR ST, TaRITeT 3R RUTfeT IR (1) 81 39 A1 3T &
3ot (2) BT b P oY TIUH GRT SeHT-3T Hood (iR fbd MU &1 depad H
PPt Brfuifere iR FrafeT sHfed & Sl § Gel diie I & 78! ¢ UKl 8, 395
BRI =6 gU H TRIUIRie! ) U=Ie & B & (3) BRAT ISl &, o =1iiep

(4) 71 AT T 9T 8 | 1 Afehadn didas ot Uifd T 958 Ao Ued g1 gHaT |
T qAd® § O 8 AT 3T (5) H 81

TR T & YR R Fafafad ust & IR

SubQuestion No : 50
Q.50 TTerier F e WM (1) ¥ RIT Iuged weg 741 8R12
Ans X 1 Tfd

< 2. fafea
of 3. emenfa
< 4 fafya

Question ID : 86440773
Status : Answered
Chosen Option : 3



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.51
Ans

TARI A difies IR ST, TaRITeT 3R rRUTfeieT R (1) 81 39 =1 3l &
3ot (2) BT Ap P oY TIUH GRT SHT-3aT oo (iR fbd U &1 v |
PPt prfurfereT Sik FrawfteT sHied & S § Gel diie I & e ¢ UKl 8, 395
BRI =6 §U H TRIUIRie! ) G=IE & 1) (3) A TS &, R =R

(4) 1 AT far ST 8 1 e Afehaan dicbda Bt Hifd T Sge Aol Wed g1 gfHar |
39% gAd® § O $o AT 3B (5) H &I

IR T & YR W FAafafed ugl & 3w ffu
SubQuestion No : 51
TR ¥ R I (2) ¥ fore Suged Weg &1 gRM?
o 1. Tl
X 234
K 3. vewal
X 4. gausi

Question ID : 86440774
Status : Answered
Chosen Option : 3

Q.52

Ans

Comprehension:

AR A difie IR ST, TGRS 3R RIS TR (1) 31 37 A1 3T &
SO (2) DY Ab P o T GRT STHT-3THT oo e fobd T § 1 A
FHH-wt Hrfurfere SR arawfie sHfed & Sl # U6l dlie I & el ¢ UKl §, 395
PRI T ATgd U Ht AT &1 U= & HE o (3) HRAT Usal g, o =i

(4) BT 1 Tz orar 8 | =nfies Ifhadt didda &I Hifd Ue 98 Aoy Xeg ¢l g &
pgAie e podsgs (5 W Rl

IR T & ATYR W Fgfafad uel & I fm|

SubQuestion No : 52

TeriRr & e wIF (3) & e Sfa v @ g
25 1. gude
X 2. 3y
X 3. Ry

of 4. Twan

Question ID : 86440775
Status : Answered
Chosen Option : 4

Q.53
Ans

Comprehension:

AR} Ahdid FawT HRIUIfe!, TawfeT R rauifers! ) (1) 81 SA AT o &
K1) o) (2) BT ApA P forT TIUH GRT SeHT-3aT Hood (iR fba T8 &1 Aepad |
Pt wrfurfereT SR crawfeT sHfed & B # Gel die J & T8l ¢ UKl §, 39
FHRU A AT8d gu v T & U= & S o (3) FRAT USal 7, o =i

(4) 1 AT T ST 8 1 e Tfhaan dias Bt Hifd T Sge Ao Ueg g1 gHaT |
H TG SN FTANITD _ (5) &l

IRIGT TR & YR W Fofeiad uei & Iw fm|

SubQuestion No : 53
TR & Yo R (4) & e Suged qreg T ghM?
< 1. fAfesaar

X 2. 39ER
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1 ] ~ 1

X 4.7ER

Question ID : 86440776
Status : Answered
Chosen Option : 3

Comprehension:

AR A difie IR ST, TGRS 3R TRUTfieT IR (1) 81 39 =1 3T &
ST (2) B b P oY TIUH GRT 3eHT-3aT Hood (iR fbd T § 1 e H
Ffl-peft wrfurfereT SR gt S & Bt § T diie § &1 7181 ¢ Urdl §, 39%
HRU 7 =6a gU H IR &) U= & ) (3) AT Ul &, o =1

(4) 71 AT a1 ST 8 | <1fie Sfehaar didas ot Hifd T 958 Ao Ues g1 gHaT |
6 qUd® § O O AN 30D (5) 81

IR T & YR W Fofafad uel & I dfom)
SubQuestion No : 54
Q.54 TRy ¥ e I (5) F R Suge e a1 ghm?
Ans X' | TAR®
o 2. foRish
X 3. ftm
X 4

Question ID : 86440777
Status : Answered
Chosen Option : 2

Q.55 famfefaa & @ @9 a1 quf Ty @R 32
Ans X" 1

K23

P Xl

of 4. o

Question ID : 86440725
Status : Answered
Chosen Option : 4

Comprehension:

IR HY BT AR A1 IR 3| R g9 g9 UgaT 39 R gHA St 1Y 3 a5 afe guR gea &
g4 &1 a% o1 381 1 98 R FHgdldl o | 39 VRl TU & fod I & SR By $I faar sk
TSl I HH 81 ST & WR 98 3R 3, faur ik gfaq & Ty g-aardr & difsd B & IRom

ISR Igd BT I T I8l 8| HIY U1 T419 B g3 U BT RS B 31 gfa snfe Qe
&1 FHY 81 &dl TR S} $HS (10 Igd FHY &1 § | aRad H 1Y 3R R H bad I BT Wa 6

3 UGIH & 1Y B AT DY TS R BT ORI By IR & Bl aid ofF TR SR B

IWRIG TR & YR R Fgfeiad g & I Sifora|
SubQuestion No : 56

Q.56 T P IuGad XMiE 1 FIm?
Ans ' 1 Fq

W 2 FU SRR

X 3T

X a3w
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Question 1D : 864407104
Status : Answered
Chosen Option : 2

Comprehension:

R PIY DT AR A7 TR ¢ | TR g - Uga1 39 W gHA it iy i g afe guR geg o
9gd {31 a o1 381 Y a8 R FHedrdl 3| 39 Rl ®U # fow 91 & SR Y PI e ik
TSS! ol BH 81 Sl & TR a8 3R 3, faaR 3R gfaa & iy g:werar & fifigd S @1 IRun
ISR Igd BT IP T I8l § | HIY U T419 B g3 W BT RSd B3 31 gfek snfe Qe
1Y 81 &l IR R 39 oY 98 FHY a1 8| IRad H 1Y SR o} H Had Bral &1 e 8|
3 UgaH & W1 B gl B TS R BT IRUM By IR F& el aid of- TR SR g

IR T & YR W Fgfaiad wel & I dfm|

SubQuestion No : 57
Q.57 Fyfeif@d § A S 91 HU= 9 82
Ans X' 1. R &fdr Bl

o 2 U IRR T HId SR 3
X 3. mywrfigl
X 4. DY IRRA DI 3R TS 5

Question ID : 864407103
Status : Answered
Chosen Option : 2

Comprehension:

TR B BT AR I IR&a ¢ | o g8 g:3 Ugdl S W gHA S b1y foban a8 afe g9R gea o
g4 A1 a% o1 381 I 98 R FHgandl o | 39 Rl ©U & fod I & HRUI By BI faar sik
TSIl Al B g1 St § W 98 SR &, f3aR oik gfad & wry g-aaran ) difed &= ot fRon
ISR T8 S TP a1 W5l | HIY S0 79 3 g2 T &1 e e 31 g o 9
HT AT T < W R 39 [0 95 AT a1 8| IRAd | H1Y 3R R & Fad &Id &1 9 g1
3 UM & 1Y &) ATl DY TS HRA BT ORI BIY IR & Bt aid of- TR SR B

IR TR & YR R FEfiad wei & Iw fom|

SubQuestion No : 58
Q.58 TgiEr | T ®1 3 FT 82
Ans & 1 Siigq

X o2.=mM
X 3799
W 4T

Question ID : 864407102
Status : Answered
Chosen Option : 4

Comprehension:

IR P BT AR I YR&a ¢ | o g8 g3 UgdT S W gHA S b1y foban a8 afe g9R gea o

g4 371 a o1 381 Y a8 R FHeandl 3| 39 Rl ®U A fow I & HRUI Y BI faar ik
ssa—é“ra‘rma‘ram%u?agahﬂtf AR SR gfad & Ty g-@erd & Red FA ST ORum
TSR Igd BT P T I8 5| HIY U TA1d B g3 U BT ST B3 31 gfek anfe Qe
1YY g1 &l IR R 39 [e7Y 98 WHY Il 8 | IRad | 1Y 3R o} H Had Brel &1 S g
W UgAM & WY Bl G- Eerdl & Ried S &1 IR0 H1Y R F& BT &l o R SR g

IR TR & YR W FufaRad wel & I Sifom|
SubQuestion No : 59
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Ans X 1 fRRa
X 2. el
2% 3. frferar
of 4 e

Question ID : 864407105
Status : Answered
Chosen Option : 1

Comprehension:

IR HY HT AR A1 IR 3| R g g9 UgaT 39 R gHA St 1Y o a8 afe guR gaa &
g &A1 a% o1 381 1 98 R FHgdndl o | 39 VRl TU & fod I & SR By $I faar sk
TSI dl HH 81 ST § TR 98 3R 3, faur ik gfaa & Ty g-aardr & difsd B & IRom

ISR Igd BT I T I8l 8| HIY U1 T419 B g3 U BT NS B 31 gfa snfe Qe
BT I E! &l IR SR 3T oY g I <l | IRad H 1Y SR ok H Had BTl &l U< g

3 UGIH & 1Y B AT Y TS B BT IR By IR F& Bt aid ofF TR SR B

IR T & YR W Fgfaiad wel & I fm|

SubQuestion No : 60
Q.60 gfEHT T SATIA FIT 32
Ans & 1 9

o 2. I
25 3.5fER
X 4Py

Question ID : 864407101
Status : Answered
Chosen Option : 2

Q.61 "3(7er H1 fae 2reg T T2
Ans X 1 3R

25 2. vfqum
W 3.5

< 4. 3Ry

Question ID : 86440744
Status : Answered
Chosen Option : 4

Comprehension:

N g TRl fp e de dA s AR (1) 8 781 e 3ud! Uedt 1 §1 31T ST
BT Rt YeATE UeM ST 3R AEHIA® aiy HATE Tel dfesd  (2) S gl fezm &
1t B 9gad 99d § Su@! R ot 9t § ofik Rmieval &) @ o o waR ot ot
T &1 w7, e WgH (3) P 1Y I Wi A Wt et usm & ot e 7@
BT fob Tifan &1 SrreliaT BRd THT g1 S TNTEM & Yol - STd | 8 3% T8y, I! 5T,
T 3R Aed B (4) BT GRTT | 1Y & Hifsar o1 o 39 a1d o1 e =1 g1 b 31t
F R o JuTeT T 3t et &1 S e J1eT 395 (5) R | T 37 BT &
3% 98 JdbdT I HAT B

IR TR P YR W FgfaRad wei & I fom|

SubQuestion No : 62
Q.62 TRIIT & Yo T (1) & 1T Suga Sreg & B1T?
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X 2.3d
< 3. dar
W 4w

Question ID : 86440767
Status : Answered
Chosen Option : 4

Comprehension:

S H3E TS b TS e o T A (1) & TeY sfeer ST UR it /1 3 It
T Rith YT Y& ST SR GRS ATH FHAT 81 ol dfep (2) & gel fe=m
Mt 31 Sead god & Iqa! foremiar ot 5¢t § ok el & 1 & o ok ot e
Hfsm ol wdd, g /HR_ (3) & Y I Wi ¥ Y e g g of e e
BT o5 ST BT ST HXd T §H ISP ANTGH BI YW - SITG | H 31 AT, 3! (g,
T 3R Agd B (4) BT BRT | 1Y B Hifsar o) oft 39 a1d o1 e a1 g S st
%aﬁ?ﬁwﬁﬁmaﬁﬁ@aﬂmaﬁgmmm (5T TN ST HH B
3% 98G Yl § HAT g1

IRITT T & YR W Fofefad uei & W fm|

SubQuestion No : 63
Q.63 TR & Yo ®IH (2) & 1T Suge 2reg &1 B1T?
Ans X 1 fReR

W 2 Fa
< 3. RS
& 4 g

Question ID : 86440768
Status : Answered
Chosen Option : 2

Comprehension:

S T3E TS b TSN e o T A (1) & et sfcep ST g it 1 3 It
T Rith YT Y& ST SR HGEIRIS ATH HHAT o1 7ol diep (2) P! g femm &
2t §1 9gad aad H Iu@! fordeiRar ot 9t § oiR rdeial & gx1 &= & | i o
e & Wdd, e @HR_ (3) P WY I TR 9 it et ugmm g6 oft e e
2 o T ) ST R THT BH I ANTGH DI U 7 G| §H I WIed, 3! [+,
T 3R Agd BT (4) BT BN | 1Y &) HifSar o) 1) 39 91 BT @ a1 8T o 3
%ﬁﬁwﬁﬁmaﬁﬁﬁmﬂwaﬁmmm _ (5)WREI TN I HH B
38 98¢ T dl ¥ A g

IR T & YR W FAafefad ugl & 3w i
SubQuestion No : 64
Q.64 TrErieT & Ry ®IH (3) & 1T Suyge 2reg &1 B1T?
Ans X 1 §q
W 2 I'w
X 3.9Hs
4

Question ID : 86440769
Status : Answered
Chosen Option : 2
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11 ~ e LI |

3 ¥ag el fob wiifsan die dF &1 (1) & e afep IueT uedt ot }1 ol Iwat
T Ryth G UG ST R AGHIS AH BHAT 81 7ol Sfep (2) B ge! fe=m &
Wt ¥ Seard god o IqT forheriar ot a¢t § oiR el & 1 & o war ot 1 s
Hifear & wdd, fFwe | (3) 1Y I Wi F Wi Fue asm &H i e 7@
BT o TS BT SMTelia1 XA THI §H S ARG B Hd = oY | §H I H1gd, I 57,
W 3R Agd BT (4) BT RN | T g HfSa B 4 39 a1 BT & Q1 81T o 311
F IR T T T Bt R &1 Sy Tad Wiel 396 (5) R | 3T 39 B B
3% 38C TAdhdl I HAT S|

IR T & YR W Fgfafad usl & I dfm)

SubQuestion No : 65
Q.65 TR ¥ e R (4) F R Iuge e a1 ERM?
Ans o 1 GiHR

5 2. iR
X 3.
25 4 uRo

Question ID : 86440770
Status : Answered
Chosen Option : 1

Comprehension:

397 W¢E e 5 wifean die o= w1 3 (1) 2 TET afcdp g1 et i B 1 TSl T
T Ryth GaTE UG ST R TGS AH HHAT 81 7ol Sieh (2) P! gt fe—m &
Wt 31 Seard god | Iqb! forieiar o a¢t § oIk e & qR1 & | war o1 s
ifsar o) wdd, fFwe | (3) & 1Y 31 TRl ¥ Ht e us gH of e e
B o Wifan @Y sirelie a Gy gH S ANIEH &I Hd A S| 89 I A6, IT! g,
A 3R Agd BT (4) AT BT | 1Y g TS BTt 37 91 BT e ITT 81T o 311t
%aﬁ?ﬁwﬁﬁmﬁﬁﬁaﬁmaﬁgmmm (5) R | 3T 39 B B
3% I8¢ Tadbdl I HAT S|

SRS T & YR R FafeRad sl & 3w v
SubQuestion No : 66
Q.66 TeriEr & e W (5) ¥ oY Iuga Weg o1 RIT?
Ans X 1 WY
K 2. ax®
W 3. &
< 4. gt

Question ID : 86440771
Status : Answered
Chosen Option : 3

Q.67 3t (1) / Y@ BT (2) / ] (3) / TGTIACT (4) / UTY (5) / T HAT (6)
U TS (1) 3R (2) F 91 qTH W1 BT Tl HH T R
Ans X 156,43
5 2.4,6,3,5
W 34653

X 4.6,4,53

Question ID : 86440779
Status : Answered
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. J

Q.68 7dd & U Bt Yfir F e Frafafea & / #1991 wsg g
Ans X 1. ffy

W 2. ST
X 3. T
K 4.3

Question ID : 86440755
Status : Answered
Chosen Option : 2

Q.69 qg FAATH HT UIaTaD fARNTOT FaT T2
Ans X 1. 39T

of 2 T

X 3.3

X 4.3

Question ID : 86440715
Status : Answered
Chosen Option : 2

Q.70 FrafafEd & | S |1 aTH IR0 SRS PT IAE 82
Ans  of 1 9% HeETSt Y 98 PreaT Bl

X 2. TS ¥ wd il

X 3. fewmer & i Fwed 31

25 4. 98 WY IR M

Question ID : 86440718
Status : Answered
Chosen Option : 1

Q.71 fFafafed 3 & 919 91 I g5 32
Ans  of | T WIEIRI

X 2 NI R GI

X 3 TR

X 4 BRI

Question ID : 8644071
Status : Answered
Chosen Option : 1

Q.72 fagffea & @ w1 a1 auf gef=y aof 32
Ans x 1.9

Wwos

X 3.3

F R
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A 1 i Amassn=Aa LI |

Status : Answered
Chosen Option : 1

Q.73 fafifa & @ S99 999 Y3 82
Ans X" 1. 319 ST el gl

X 2. 30 W FHA B
of 3 Mo asa
< 4. 3 ST S B

Question ID : 8644072
Status : Answered
Chosen Option : 3

Q.74 fyaa WM & T Iuga s F1 g2
_ % o WY vl o IR e
Ans x 1. 2P
X 2.5
W 3.3
75 4. Frm=n

Question ID : 86440732
Status : Answered
Chosen Option : 4

Q.75 raH a1 7 g Iy & e fFrafafaq A & o149 91 wres ghm?
Ans " 1. 3o

o 2. R

75 3. %&m
X 4. offda

Question ID : 86440751
Status : Answered
Chosen Option : 2

Q.76 T B T} | P A1 WUe3-go FAferd 781 82
Ans X' 1. §7d - S

o 2 -
X 3. -
X 4. 9875

Question ID : 86440716
Status : Answered
Chosen Option : 2

Q.77 fafifea & S 91 e Hiared o1 3ee’v 32
Ans o 1 3 T S 1

/< 2. AT @ gl
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/X 4. yu o 9ar el S

Question ID : 86440729
Status : Answered
Chosen Option : 1

Q.78 &ifre’ BT fad Xeg F4T M2
Ans « 1. QMY
X 2.fRRr

25 3. Tt
X 4. d9q

Question ID : 86440742
Status : Answered
Chosen Option : 3

Q.79 It (1) / Taht (2) 1 TR-6R (3) / 7 (4) TR TR BT WL HH FIT A2
Ans X" 13,2 4,1

21324

75 3.1,2,4,3

K 4.1,4,3,2

Question ID : 86440784
Status : Answered
Chosen Option : 2

Q.80 "UITY TTAT HeTAR FT Wel 31 T §2
Ans ' 1 fiRdt @

X 2. ot iR HiE
< 3. S d HA
o 4 3w FEE

Question ID : 86440763
Status : Answered
Chosen Option : 2

Q.81 fmfafea & @ 19 a1 arH = 32
Ans X' 1 19 oIS, TR SR gde @RiaT

/X 2. 17 P, U ok gwe Wi
X 3. 17 P, URE ofR g gl
o 4 B B, IR SR g W

Question ID : 8644079
Status : Answered
Chosen Option : 4

Comprehension:

JWT I aTd ST §U OO o forg wmsm &) 39T @ TR g1t 8, gfY & ofial & o9 g a8
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PG~ Ve W o N VPR o Wit WU VR o W e Clin WU o W e WSO o\ W o,

Jhd 5, 39D IUId dg3il H U 3R HA 3T SH & HRUT YA H HI bl HH TRAT 3R T
B ST @ 3R 3 TR TN 3 aTell 3TR BT R arelt fhamaff & Ted sRIeR gl oid &1 Rgr &
Bd o1 A -y cafaaal o - 3 St 81 3Tk @ ot fraeT SR onre 5w H
foreTaT § ST TUR & 5d 9§ 3R T3-S ANl & U8 07 S/ Hifd TR a1d Gifde® T4 &
& g-cibR U MU| R Al &1 Ht Ia1 81 9 pll-deft 39 ot 31fes I &1 sra=gapan gicht
7 R e At 1

IR TR & YR W Fafafed usii & Iw G|
SubQuestion No : 82

Q.82 3wt &7 3f wT B2

X 1.3s1

o 2. A

X 5. dfg

X 4. FUER

—_ O R .

Ans

GET IT ON
Google Play

Question ID : 86440795

Chosen Option : 1

Status : Answered

Comprehension:

T X& ITel ST §U Tort & forg w1 Y <191 9 TRE gl §, i & Sfial & offa Imae 9%
d  3fiw g1 2V Al Hel & w3 it ¥ 31 W °el ad oW gded TR 9d
Tobd 7, 3P IWRIA dqeft § AT 3R 7 311 oTH & SR 374 & H et o TR 3R A7
B e § 31 T USR TIN0T 53 aTelt 3R T - arcit fhansfl & uedt sRIeR 81 o 8 | g1 &
% &I AT - safdaal & - 3t o 81 SR Al &t RaeT SR ora i 9 9
TOreTa B I TR & 9gd ¥ SR T3-9S AN B T8 07 TWHR i TIRA aTet Gifed T B
& dg-aibR U MU WR Al & Ht I 81 9 ll-deft ST i 31fes I &1 sraxgavan gl
8 foraer qemor a

IR T & YR R Fgfafad ush & 3w a1
SubQuestion No : 83

Q.83 gifte &7 3 T 82

< 1. aradt

X 2od

W 3.erf

75 4. fEm

Ans

Question ID : 86440798

Chosen Option : 3

Status : Answered

Comprehension:

I I T ST §U WTordt § For W &bt <97 @ TR gicht 5, YfY & ofidl & ol G 98
3d  Sfi g1 2V Al Hel & T 3 it ¥ 31 g °el kb oW gdd TR 9d
TP &, 39% IWRIA dgeft ¥ AT iR AT 31 9TH & HRUT 3 ¥ +ff wel w1 TR 3R e
B O § SR 3 UHR UIV01 I3 aTelt SR g1 - arelt febaraii & Ued aR1eR 81 oid & | Fs1 &
a1 T - cfaal § - ol S 81 SRl &t R ok o6 i 9 9 |
foreTa 8 I TR & 9gd ¥ SR T3-9S AN B T8 07 TWHR i TR a1t Gifes T B
& dg-aihR U MU| R Al & Hft Ia1 81 9 -t 399 ot 3ifies I &1 sraxgesan gidt
B o amemor e |

IR T & AMYR R FgfaRad ush & 3w A1

SubQuestion No : 84
Q.84 gy &1 3f w2
Ans
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Question ID : 86440796
Status : Answered
Chosen Option : 3

Comprehension:

JWT X5 TSt ST gU iOrat o fory A ot 3wt @ TReft gt 8, 9P & Siial & o9 wmae 98
3T ¥ 31w g1 S § IIe Hel & otg 9 ofie § Sifies Widg del a& W Ydd aiaR ad
Tahd §, SUP IWRIA dqeft H A 3R T 311 SH & SR 37 I H Ht H TR 3R A7
B Tl B SR 3 UHR U1 I3 aTelt SR g1 H arelt fobaraif & ued SReR 81 o & | s &
d B A - safaal 8§ - <l S 81 STR @l &1 R SR 816 i 9 9 |
fOreTaT § ST TUR & 9gd U 3R To-98 ANl H U8 0T S/HR Hifd TIRA a1d GifH® T4 &
& Tg-ciobR U TMUI R ATl b1 Ht I 81 9 pll-deft 3T i 31fes I &1 sra=gapan gl
8 o aemor an |

IWRIG T & 3MYR R Fgferiad usi & Iw |
SubQuestion No : 85
Q.85 "GRT T HTIT T 82
Ans X 1 T
o 2.
X 3. fawm
X 4o

Question ID : 86440799
Status : Answered
Chosen Option : 2

Comprehension:

JWT X5 TSt ST g4 IfOrat o fory A ot 2wt @ TReft gl 8, gfY & Siial & o9 3mae 98
3Na @ 3ifes B1 38 A el wict &b e 3 4P F 4 Fiare ©el deb TH g AR T
Tohd §, 3P IWRId dqeft § YT 3R T 311 ST & HRUT 34 I H Ht oo TR 3R A7
B T B 3R 3 UHR U1 I3 Tl SR g1 H arell febaraii & Ued aR1aR 81 o & | Fsr &
B &I AT E-fm safdaal & - 3t S g1 SR At &t R SR o1a = 9 9
foreTaT § ST TUR & 95d U 3R T3-98 ANl & U8 07 S/HR Hifd TIRA a1d GifHe® T4 &
& g-cibR U TUI IR ATl b1 Ht I 81 9 pll-deft 3T i 31fes I &1 sra=gapan gl
8 o amemor an o

JWRIeT TR & YR W FAafafed usih & IR <o’ |
SubQuestion No : 86
Q.86 TETRT T Heia fawa Far 32
Ans X 1 Tt
W 2 F=
2% 3. frfrerar
< 4. O

Question ID : 86440797
Status : Answered
Chosen Option : 2
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Il lAaA» & o NN _ A A 1

Ans X' 1 5w o oo o R Rl
X 2. o F1ge fora faan gl
X 3 A po o oo fora fear g
W+ s aigs ey

Question ID : 8644075
Status : Answered
Chosen Option : 4

Q.88 T Hg &l aIa" Tpifed &1 Aet o wur §2
Ans  of 1 3o+ft S1d § e ST

/X 2. fayeta

/X 3. fagangef ard

X 4. el

Question ID : 86440764
Status : Answered
Chosen Option : 1

Q.89 fmfuafEa & & $14 a1 9uf I W 82
Ans X 1.9

X 2.3

v &R

X 4

Question ID : 86440722
Status : Answered
Chosen Option : 3

Q.90 fufifEa o / B9 |1 9199 [ 82
Ans X' 1. I e el Se|

X 2. I S ge S|
/X 3.3 & geT S|
of 4. 98 o1 geT S|

Question ID : 8644074
Status : Answered
Chosen Option : 4

Q.91 fmfafaa & & &9 a1 ar g 82
Ans «1_@Hgﬁ:fm§[gﬁ|

X 2 IR YIRS

X 3. T IS TR R

X 4. TR TR

Question ID : 8644073
Status : Answered
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Comprehension:

STHTRI T N el T TS Ul 8 98 Sia=d Yamafdd Meid aeiii & HRUI g | S SATaidh vt
I yafdd S arer uerd § e argHsd, ot gl & IR iR J due 31 g @t il 5
THST IR TSl &3 3T ¥ 1 I8 ITgHS SR ard, Ui, AR 3nfe i &t a7t Y yeamafaid
TS T, Pl AT T P TN Bl YA DRl © o SUR A F S 71 ferams
USdT ¢ | T8 U o1 STR JH ARt 3 arg & it R o Y uig oft et 81w & sifaRad
ﬁﬁ;{g{é@sﬁ%ﬁsm—awmﬁﬂﬁ% 6 & SR gAfeg R gaid & qag

|

IR T & MR R FgfaRad ush & 3w A

SubQuestion No : 92

Q.92 ITEIT TN B B YATafid FaT 32
Ans X' 1 gf

K 2. ded

2% 3. 3BT

o 4 TgHsT

Question ID : 86440792
Status : Answered
Chosen Option : 4

Comprehension:

3BT BT SiY =ittt 7 feRaTs Ul € 98 3favy YTdfaid Sl a<iil & BRUT 8| 3 3HTalidh aeait
B Yafid HRA T uery 8 e argHed, S et B IR 3R | aue 81 g ) fpeol 31
TRIHST TR TS §3 31Tl €1 I8 IHSd SR ard, Wd, FRHT 3nfe 30 ot i ) vamafdd
e RelT, P AT T B} TN Bl UTafid BT © o SR T § ST 71 forams
ST ¢ | U981 U o1 SR JH A1feT o arg & i€t R o bt U9 oft et 81 4 & sifalad
ﬁ%m%m%@sW—ammﬁﬂﬁ%l ! & BRI YAed 3R Jaikd & g9

|

IWRIG T & 3MYR R Fgferiad usi & Iw |

SubQuestion No : 93
Q.93 qrH &7 3 FuT 82
Ans X' 1 Fe

25 2. uET
o 3.3
/X 4 i

Question ID : 86440790
Status : Answered
Chosen Option : 3

Comprehension:

BT BT S et T TS usar § 98 Sfavy ymafid 3elies aivil & BRI 2| 5 3Malie a¥ill
B yrafdd S arar uerd § Jr? argHed, o gedl B IRY SR § aue 71 g @t fovol 59
JRIHST IR TS §3 3Tl 81 I8 IRHSd SR ard, Wdl, TRt onfe 30 ot i ) yamafdd
61 BT, Pl AGH T D1 AN DI YAl DT © R SR b F AR 1 ferams
TSI ¢ | T8I U 91 3R JHH A1feT i arg & TSt g ofd 1 U9 oft gt 1 W & sifafad
ﬁﬁgﬂgﬁ%ﬁ;ﬁ%ﬁh%ﬁ-ﬁ*mmﬁﬂﬁél 1 & PRI YAed iR gard & gag

|

IR T & YR R Fyfefad gl & I Sfor|
SubQuestion No : 94
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Ans X' 1 Sd
X 2. Sgugy
W 3T
F RCE

Question ID : 86440789
Status : Answered
Chosen Option : 3

Comprehension:

ST BT 1l el T TS ISl § I8 Sfaxy Gomafcid SMelies a¥dil & BRI g | § 3Mdids axilt
) Yafdd HRA drar uerd 8 e argHed, S el B IRy 3R | e 81 i ) feol g1
TGHST IR TS 83 Tl 1 I8 TgHSH SR ard, Ui, AR 3nfe T bt a7t Y yeamafaid
TE B, B ST T B TN 1 YAl Har ¢ o SR dTe § ST 31 fawars
ST ¢ | T8 U o1 SR JH A1feT o arg & it R ofd Y uig oft et 81w & sifalad
ﬁﬁ;}gﬂ%ﬁ;ﬁ%ﬁﬁgw—gmmﬁﬂﬁ%l T & BRI YAed 3R Jaikd & a9

|

IWRIG T & 3MYR R Fgferiad ushi & Iw |

SubQuestion No : 95
Q.95 yuiey & WAy fad HRor arelt fowars usdt 87

Ans X 1 fgm
5 2.5
W 3.9

X 4. w18

Question ID : 86440791
Status : Answered
Chosen Option : 3

Comprehension:

3BT BT Y =itert 377 fvaTE TSl € 98 A%y UArdidd SMeiid aeill & HRUT 8| 3 ATl aeill
) Yafid HRA Tl Uer 8 12 agHsd, S et B IR 3R | U 81 Y o fbvol 31
TYHSH R TS g3 Ml &1 I8 IgHSd SR ard, Uid, Al onfe T ot ol bt gt
61 BT, Pl ATGH T D1 AN DI YA DT © ORI SR qp H AR T ferams
TSI ¢ | T81 U o1 3R JH A1fet o arg & it R ofd 1 w19 oft gt 81w & sifafad
ﬁﬁ%%m;ﬁ%ﬁhsﬂ?—ammﬁﬂﬁ%l I & HRU YAled SR gafd & gag

|

IR TR & YR R Fyfefad gl & I Sfr|

SubQuestion No : 96
Q.96 TTadT BT TG T 272
Ans X 1 ST

W 2 S
K 3. Ega
< 4.3

Question ID : 86440793
Status : Answered
Chosen Option : 2

Q.97 R &Y (1) / Hfaal &1 (2) / 3rgare (3) / far war (4) 1 7= (5) 1 HT9T & (6)
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H T=AT (1) IR (2) B 1G TR AT BT FeT S6H T RI?
Ans X' 14,563

524,356
of 35634
5 4.56,4,3

Question ID : 86440778
Status : Answered
Chosen Option : 3

Q.98 gz 1 faei 2Ueg FT VM2
Ans X 1 mEN

o 2. fazma

< 3.3

S 4.9

Question ID : 86440741
Status : Answered
Chosen Option : 2

Q.99 U (1) / AP (2) / 7 (3) / UEY (4) AT TIAT BT ALY v H T GIN?
Ans X' 11,342

21324
75 3.21,34
542,413

Question ID : 86440783
Status : Answered
Chosen Option : 2

Q.100 fyfifad # @ 1= |1 guf AT W 82
Ans  of 1

K2

X o3a

& 4d

Question ID : 86440724
Status : Answered
Chosen Option : 1

Section : General English

Q.1 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select 'No substitution'.

Each of the two brothers wants the cake but neither have any manners.

Ans X 1. either have no manners

X 2. No substitution

( 3. neither has any manners
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Question ID : 864407188
Status : Answered
Chosen Option : 1

Q.2 Fill in the blank with the most appropriate word.

The manager's planning proved to be very profitable for the company.
Ans X 1. ingenuous

X 2. innocuous
X 3. imperial
« 4. ingenious

Question ID : 864407138

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.3 Select the correct passive voice of the given sentence.

The Enforcement Directorate has seized a 22-room sprawling seaside farmhouse in
Alibaug.

Ans X 1. A 22-room sprawling seaside farmhouse in Alibaug is seized by the Enforcement
Directorate.

« 2. A 22-room sprawling seaside farmhouse in Alibaug has been seized by the
Enforcement Directorate.

X 3. A 22-room sprawling seaside farmhouse in Alibaug will be seized by the
Enforcement Directorate.

X 4. A 22-room sprawling seaside farmhouse in Alibaug is being seized by the
Enforcement Directorate.

Question ID : 864407122
Status : Answered
Chosen Option : 2

Q.4 Identify the segment that contains a grammatical error. If there is no error, select ‘No
error'.

A year-long march called 'Jai Jagat 2020’ carried the message of non-violence, started
from Raj Ghat on 2nd October, 2019 to mark the 150th birth anniversary of Mahatma
Gandhi.

Ans X' 1. A year-long march called 'Jai Jagat 2020'

« 2. carried the message of non-violence, started from Raj Ghat

X 3. No error

X 4. to mark the 150th birth anniversary of Mahatma Gandhi.

Question ID : 864407112
Status : Answered
Chosen Option : 4

Q.5 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. But unfortunately, this so-called best friend has turned a foe.
B. These changes can produce fatigue, dizziness and loss of concentration.
C. The cell phone has now usurped the dog's place to become man's best friend.
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e e

o a man et et 4 _at o an LI |

neaas ot cell pnone users can cause aaverse neuroliogical chnanges.
Ans X' 1. DBAC

o 2. caDB

/< 3.CBAD
/< 4.DCAB

Question ID : 864407184
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select 'No substitution'.

When | was passing through the street, | heard a loud scream and saw smoke raising
from a building.

Ans X 1. No substitution
« 2. saw smoke rising from a building
X 3. saw smoke raising in the building

X 4. see smoke raised out of a building

Question ID : 864407189
Status : Answered
Chosen Option : 2

Q.7 Select the correct passive voice of the given sentence.

The Supreme Court temporarily halted the cutting of trees in Aarey Milk Colony.

Ans X 1. The cutting of trees in Aarey Milk colony was being temporarily halted by the
Supreme Court.

( 2. The cutting of trees in Aarey Milk colony was temporarily halted by the Supreme
Court.

X 3. The cutting of trees in Aarey Milk colony has been temporarily halted by the
Supreme Court.

X 4. The cutting of trees in Aarey Milk colony had been temporarily halted by the
Supreme Court.

Question ID : 864407121
Status : Answered
Chosen Option : 1

Q.8 Fill in the blank with the most appropriate word.

A good novelist should be
Ans X 1. pretentious

to appeal to the readers’ sentiments.

« 2. perspicacious
X 3. precarious

X 4. preposterous

Question ID : 864407140
Status : Answered
Chosen Option : 1

Comprehension:
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All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank No. 1

Ans ?{F 1. whom
KF 2. what

o 3. which
?{F 4. who

GET IT ON

Google Play

Question ID : 864407157
Status : Answered
Chosen Option : 3

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank No. 2

Ans ?{ 1. reaching
?{F 2. reached

?{ 3. for reaching

\_f 4. to reach

Question ID : 864407158
Status : Answered
Chosen Option : 4

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank No. 3
Ans
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Q.12
Ans

Q.13
Ans

\f 2. divorced

?( 3. retained

< 4. dissolved

GET IT ON

Google Play

Question ID : 864407159
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 12
Select the most appropriate option to fill in blank No. 4

?( 1. understood
?{ 2. underway
KF 3. undermined

Q_f 4. undertaken

Question ID : 864407160
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)
tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 13
Select the most appropriate option to fill in blank No. 5

KF 1. accessory

25 2. further

( 3. surplus

?{F 4. supporting

Question ID : 864407161
Status : Answered
Chosen Option : 4

Comprehension:
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All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the

GET IT ON

Google Play

direction of our (5)

stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7)

hobby, as it is

properly termed, calls for the (8)

of our highest faculties and gives proper form to our

healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 14

Q.14 Select the most appropriate option to fill in blank No. 6
Ans X 1. reclined
KF 2. regressed
< 3. relapsed
J 4. refined
Question ID : 864407162
Status : Answered
Chosen Option : 4
Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.
All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)
tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.
SubQuestion No : 15
Q.15 Select the most appropriate option to fill in blank No. 7
Ans X 1 but
KF 2.s0
K o3if
J 4. or
Question ID : 864407163
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank No. 8
Ans
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Q.17
Ans

Q.18
Ans

=

KF 2. apply
?{ 3. applicant

J 4. application

GET IT ON
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Question ID : 864407164
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)

tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 17
Select the most appropriate option to fill in blank No. 9

{ 1. purposeful

?{ 2. remorseful
?( 3. disgraceful

< 4. disdainful

Question ID : 864407165
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

All of us work to ward off starvation or to gain sufficient material wealth with a view to
maintaining that standard of living (1) our physical and intellectual powers have helped
us (2) . But there is another kind of work which is completely (3) from the
burdensome process of our livelihood and is (4) for the sake of amusement or the
direction of our (5) stores of energy in some new and useful channels of (6)
tastes. This delightful occupation combining work with pleasure (7) hobby, as it is
properly termed, calls for the (8) of our highest faculties and gives proper form to our
healthy instincts, (9) habits and disciplined behaviour. In our vacant hours it allows
(10) faculties to display their instinctive greatness.

SubQuestion No : 18
Select the most appropriate option to fill in blank No. 10

{ 1. these
25 2. that
< 3.their
75 4 this

Question ID : 864407166
Status : Answered
Chosen Option : 1

Q.19 Select the option that arranges sentences A, B, C and D in a logical sequence.
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A. INIS reputation overwneims nis recora ana wnen peopie tnink or nim, tneir Tirst
thought is his temper, not his great record.

B. He is one of two coaches in college history with 800 or more victories.

C. Basketball coach Bob Knight won three NCAA titles at Indiana University.

D. But he also has a well- documented history of arguing violently with referees.

Ans X" 1 BDAC

/5 2.CDAB

o 3.CBDA

/< 4.CDBA

Question ID : 864407185
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate antonym of the given word.

Emancipate
Ans “ 1. enslave

KF 2. elevate
?{ 3. extract

KF 4. extricate

Question ID : 864407147

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.21 Select the most appropriate synonym of the given word.

Affliction
Ans ?(: 1. dexterity

\f 2. distress

2% 3. diffidence

?(: 4. delusion

Question ID : 864407141

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.22 Select the most appropriate meaning of the given idiom.

Give one the slip

Ans X' 1 to flatter others
?{P 2. to neglect someone
?{ 3. to give a notice

Q_f 4. to escape from someone

Question ID : 864407153

Not Attempted and
Marked For Review

Chosen Option : --

Status :



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Google Play

Derision
Ans ?(: 1. raillery

\f 2. adulation

?(: 3. contusion

?(: 4. embezzlement

Question ID : 864407150

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.24 Select the correct active voice of the given sentence.

A stringent view of the matter of stubble burning has been taken by the Green
Tribunal.

Ans ?(: 1. The Green Tribunal had taken a stringent view of the matter of stubble burning.
\f 2. The Green Tribunal has taken a stringent view of the matter of stubble burning.
?(: 3. The Green Tribunal is taking a stringent view of the matter of stubble burning.

?(: 4. The Green Tribunal took a stringent view of the matter of stubble burning.

Question ID : 864407119
Status : Answered
Chosen Option : 2

Q.25 Select the option which correctly converts the given sentence into direct speech.

The beggar entreated the lady to let him stay there for a while and refresh himself.

Ans K 1. The beggar said to the lady, "Please let myself stay there for a while and refresh

me."
?{ 2. The beggar said to the lady, "Let him stay there for a while to refresh himself."
\_’ 3. The beggar said to the lady, "Kindly let me stay here for a while and refresh myself."

?{ 4. The beggar said to the lady, "l will stay here for a while and refresh myself."

Question ID : 864407129

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.26 Fill in the blank with the most appropriate word.

The chairman the members to be restrained during the board meeting.
Ans " 1. absolved

KF 2. abjured

?{F 3. adjourned

« 4. adjured

Question ID : 864407139
Status : Answered
Chosen Option : 3

Q.27 Select the option which correctly converts the given sentence into direct speech.
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naa 1o lay aown tneir lives T1or It.

Ans K 1. The speaker has said, "We ought to defend the honour of our country even if you
have to lay down your lives for it."

K— 2. The speaker says, "You ought to defend the honour of your country even if you have
to lay down your lives for it."

\f 3. The speaker said, "We ought to defend the honour of our country even if we have to
lay down our lives for it."

?(: 4. The speaker said, "They ought to defend the honour of our country even if they
have to lie down their lives for it."

Question ID : 864407127

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.28 Select the correct active voice of the given sentence.

Aspersions are being cast on the treasurer of the society by some members.

Ans ?{ 1. Some members had cast aspersions on the treasurer of the society.
?(: 2. Some members were casting aspersions on the treasurer of the society.
Q_f 3. Some members are casting aspersions on the treasurer of the society.

?(: 4. Some members cast aspersions on the treasurer of the society.

Question ID : 864407118
Status : Answered
Chosen Option : 3

Q.29 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

It is custom for the Ministry of external affairs to welcome a visiting dignitary by way
of banners.

Ans ?{ 1. to welcome a visiting dignitary
\f 2. It is custom for the Ministry
K— 3. No error

?(: 4. by way of banners

Question ID : 864407114

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.30 Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. | taught a class at a telecom centre a few years ago.

B. During the lunch break | asked him where he was from and he replied Singapore.
"That's a great city!" | said.

C. In fact, he was so sure of himself that he offered to pay $100 for each time he used
them.

D. He thought it was easy not to use these words at all.

E. One of the men in my class mocked me when | mentioned the problem of using 'no’,
'but’ and 'however' in our conversations.

F. "Yes," he replied, "It's great but....." Then he smiled and reached his pocket for cash.

Ans  off 1. AEDCBF

/% 2. ACEBDF
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#< 4. ADCBEF

Question ID : 864407181
Status : Answered
Chosen Option : 3

Q.31 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

There are several ways of increase production from the same piece of land.

Ans ?(: 1. the same piece of land
K— 2. There are several ways
?(: 3. No error

nf 4. of increase production from

Question ID : 864407108
Status : Answered
Chosen Option : 4

Q.32 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. Of this about 60% gets recycled, according to the Union environment ministry.

B. India generates at least 25940 tonnes of plastic waste daily equal to the weight of
4300 elephants.

C. Proper waste collection and management is at the core of ensuring more plastic
gets recycled instead of ending up in landfills and oceans.

D. The rest gets dumped in landfills, clogs drains, goes into the ocean as micro plastic
or is burnt leading to air pollution.

Ans o 1. BADC
< 2.BCAD
/< 3.CBDA

/< 4.cApB

Question ID : 864407186
Status : Answered
Chosen Option : 2

Q.33 Fill in the blank with the most appropriate word.

As soon as Hitler came to power he started the Jews.
Ans X' 1 plicating

nf 2. persecuting
?{ 3. persisting

KF 4. prosecuting

Question ID : 864407136
Status : Answered
Chosen Option : 4

Q.34 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

Barely had she entered her home that her children began pestering her for food.
Ans KF 1. pestering her for food
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KF 3. No error

/< 4. Barely had she entered

Question ID : 864407113
Status : Answered
Chosen Option : 4

Q.35 Select the option which correctly converts the given sentence into direct speech.

He exclaimed with regret that he had behaved very rudely with his colleagues.

Ans ?{ 1. He said, "Bravo! What rudely have | behaved with my colleagues.

?{ 2. He said, "Aha! How rudely | have behaved with my colleagues."
Q_’ 3. He said, "Alas! How rudely have | behaved with my colleagues!"

?{ 4. He said, "Oh! So rudely | have behaved with my colleagues."

Question ID : 864407128

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.36 Select the option which correctly converts the given sentence into indirect speech.

She said to you, "l did not know that you bought these things for me yesterday.”

Ans KF 1. She told you that | had not known that you had bought those things for me the
previous day.

\_’ 2. She told you that she had not known that you had bought those things for her the
previous day.

?(: 3. She told you that you did not know that you bought those things for her yesterday.

?(: 4. She told you that she did not know that | had bought these things for her yesterday.

Question ID : 864407134

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.37 Select the option which correctly converts the given sentence into indirect speech.

She said to me, "Shall | post these invitations for you today?"

Ans Q_’ 1. She asked me if she should post those invitations for me that day.

?{ 2. She asked me that if she should post those invitations for me today.
?{ 3. | asked her if | shall post these invitations for her that day.

?{ 4. She asked me if she could post these invitations for me that day.

Question ID : 864407131
Status : Answered
Chosen Option : 2

Q.38 Fill in the blank with the most appropriate word.

No wonder the burglars are at large. The police is in with them.
Ans ?(: 1. collision

?(: 2. contention
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Question ID : 864407137
Status : Answered
Chosen Option : 3

Q.39 Select the most appropriate antonym of the given word.

Authentic
Ans « 1. spurious

#< 2. sanguine
KF 3. static

< 4. sombre

Question ID : 864407146
Status : Answered
Chosen Option : 4

Q.40 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. Her first trip was in 1996 as a third year college student.

B. Her interaction with locals and Tibetan refugees has further helped her to
understand the psyche of displaced individuals.

C. Since then the fight for Tibetan identity has fascinated her.

D. A large part of Shalini Vichitra 's creations on displacement is influenced by her
travels to Ladakh.

Ans X" 1 DCBA
/< 2.DBCA

/< 3.DABC

o 4.DACB

Question ID : 864407187
Status : Answered
Chosen Option : 3

Q.41 Select the most appropriate synonym of the given word.

Reticent
Ans X' 1 radical

\f 2. reserved
< 3. righteous

KF 4. robust

Question ID : 864407144
Status : Answered
Chosen Option : 4

Q.42 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select '"No substitution'.

No sooner did the police arrived that the robbers made good their escape.

Ans KF 1. had the police arrived that

« 2. did the police arrive than
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?{ 4. No substitution

Question ID : 864407192

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.43 Select the option which correctly converts the given sentence into indirect speech.

The old man said, "Farewell my friends. May you live in peace and prosperity!"

Ans J 1. The old man bade his friends farewell and prayed that they might live in peace and
prosperity.
?{ 2. The old man bid his friends farewell and prayed that they may live in peace and
prosperity.
?{ 3. The old man bade his friends farewell and prayed that you may live in peace and
prosperity.

K— 4. The old man bids his friends farewell and prays that they might live in peace and
prosperity.

Question ID : 864407135

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 44
Q.44 Which of these statements is NOT correct?

Ans KF 1. Oceanic quakes can trigger devastating tsunamis.
KF 2. Major earthquakes release more energy than man-made explosives and bombs.

KF 3. The destructive power of an earthquake depends on the depth of its focus.
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Ans

crust.
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Question ID : 864407201
Status : Answered

Chosen Option : 4

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust.
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilomet

If

ers

below the surface. Because the crust is in motion so close to the surface, these quakes are

most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that

stress is increasing. That knowledge along with the elapsed time since the last quake helps

scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 45
The passage mainly deals with

f 1. the phenomenon behind the occurrence of earthquakes and their measurement.

?{ 2. the contribution of Charles Richter in developing a scale for measuring earthquakes.

?\'\F 3. how the seismologists can accurately predict earthquakes based on precise data.

?{ 4. the history of earthquakes and the devastation caused by them.

Chosen Option : --

Question ID : 864407204

Not Attempted and

Status - Marked For Review

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust.
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilomet

If

ers

below the surface. Because the crust is in motion so close to the surface, these quakes are

most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
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Q.46
Ans

sucn oceanic quakes can trigger enormous tiaal waves or [sunamis.
The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 46
The deep focus earthquakes are less damaging because

2'{— 1. the crust in motion is very close to the surface and its effect passes away quickly.
2{ 2. they can be predicted well in advance and precautions can be taken.
2'{— 3. they are very rare and their intensity is usually low to moderate.

1 4. the motion of the crust is thousands of kilometers deep under the surface.

GET IT ON

Google Play

Question ID :
Status :

Chosen Option :

864407202

Not Attempted and
Marked For Review

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 47

Q.47 What does the phrase 'educated guess' mean in the passage?

Ans

2'{— 1. a gut feeling guess made by scientists based on intuition and foreboding.
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?( 3. a wild guess which is not based on any statistical data.

?{ 4. a guess made by educated people like seismologists which is always correct.

Question ID : 864407203

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

The ground beneath our feet seems rock solid, but our planet's surface is in fact a dynamic
grid of slowly moving sections known as tectonic plates. Normally this motion is incredibly
slow, showing itself only on geological timescales. This motion builds up stress in the crust. If
the stress rises beyond a critical threshold, a portion of the crust will give way, shifting
suddenly and violently. This sudden motion occurs along a fault- a weak zone in the earth's
crust; the result is felt as an earthquake.

The destructive power of an earthquake depends on the depth of its focus. In the most
common earthquakes known as shallow focus events, the focus is just a few dozen kilometers
below the surface. Because the crust is in motion so close to the surface, these quakes are
most powerful and deadly. In contrast, deep focus quakes originate hundreds of kilometers
below the surface and cause less damage. Earthquakes can also occur beneath the ocean;
such oceanic quakes can trigger enormous tidal waves or tsunamis.

The first practical scale for measuring earthquakes was developed by geologist Charles
Richter and the scale scientists use today still bears his name. A quake with magnitude
between 2 and 3 is the lowest normally felt by the people. A magnitude 5 is considered
moderate and a magnitude 6 or higher is considered major. Major earthquakes release far
more energy than any man-made explosion. The 1906 San Francisco earthquake with a
magnitude of 8.3 was approximately one million times as powerful as the atomic bomb
dropped on Hiroshima. The earthquake in Bhuj, measured 8.1 on the Richter scale.

No one can predict exactly where or when the next major earthquake will occur. However,
seismologists have several methods at their disposal that allow them to make educated
guesses. A statistical study of historical earthquakes in a given region shows how frequent
earthquakes of different magnitudes have been in the past. From these figures they can
guess how likely future earthquakes will be.

Seismologists can also measure how much stress a region is under and how quickly that
stress is increasing. That knowledge along with the elapsed time since the last quake helps
scientists determine if another earthquake is likely in the region. This method is far from
perfect, though, and requires extremely detailed seismological data which simply isn't
available for most regions.

SubQuestion No : 48
Q.48 An earthquake is caused due to the

Ans ?( 1. incredibly slow motion of the tectonic plates on the earth's crust.
?{ 2. deep focus that originates hundreds of kilometers below the surface of the earth.

{ 3. sudden violent shifting of the crust along a weak zone when excessive stress builds
up.

KF 4. shallow focus just a few dozen kilometers below the earth's surface.

Question ID : 864407200

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.49 Select the correct active voice of the given sentence.

They were questioned by the immigration officer.

Ans ?(: 1. The immigration officer was questioning them.
?(: 2. The immigration officer will question them.

4’ 3. The immigration officer questioned them.
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Question ID : 864407116
Status : Answered
Chosen Option : 1

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 50
Q.50 Select the most appropriate option to fill in blank No. 1

Ans X 1 denied
?{F 2. delegated

KF 3. deprived

J 4. derived

Question ID : 864407168
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 51
Q.51 Select the most appropriate option to fill in blank No. 2

Ans X 1 notoriety

KF 2. demeanour

J 3. stature

K 4. countenance

Question ID : 864407169

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian


Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.52
Ans

Q.53
Ans

Q.54
Ans
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acnievea Tor Inaia a (£) nat was aeniea 1o otner countries tnat won rreeaom arouna
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , We realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 52
Select the most appropriate option to fill in blank No. 3

2'{— 1. infringement
2{ 2. intrusion

{ 3. impact

2{ 4. imposition

GET IT ON
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Question ID : 864407170
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 53
Select the most appropriate option to fill in blank No. 4

?(: 1. perfection
?'{F 2. solution
2{ 3. integration

( 4. completion

Question ID : 864407171
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 54
Select the most appropriate option to fill in blank No. 5
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Q.55
Ans

Q.56
Ans

-

KF 2. has been dealing
KF 3. is dealing

of 4. dealt
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Google Play

Question ID : 864407172
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he

achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful
(4) of his mission in India. He soared above all others because he (5) with

ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 55
Select the most appropriate option to fill in blank No. 6

?( 1. enticed
?{ 2. engulfed
{ 3. embraced

?{ 4. encroached

Question ID : 864407173
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 56
Select the most appropriate option to fill in blank No. 7

of 1.of
KF 2. at
< 3.by
KF 4.0on

Question ID : 864407174
Status : Answered
Chosen Option : 1
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Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 57
Q.57 Select the most appropriate option to fill in blank No. 8

Ans & 1 is
4’ 2. were
2{ 3. are
2'{— 4. was

Question ID : 864407175
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he
achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful

(4) of his mission in India. He soared above all others because he (5) with
ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.

SubQuestion No : 58
Q.58 Select the most appropriate option to fill in blank No. 9

Ans ( 1. perspective
/5 2. eminence
?\'\F 3. outlook

< 4.vantage

Question ID : 864407176
Status : Answered
Chosen Option : 1

Comprehension:

Read the given passage and fill in the blanks with the most appropriate options.

Implied in Toynbee's assessment was the deduction that Gandhi was not just an Indian
phenomenon. No doubt, India (1) unequalled benefit from his leadership as he

achieved for India a (2) that was denied to other countries that won freedom around
the same time. His (3) on history is that it is not dependent on the successful
(4) of his mission in India. He soared above all others because he (5) with

ideas and theories relevant to all mankind. Gandhism has been (6) by people in
distant lands who see in its tenets the promise (7) a meaningful life. Raja Rao put it
pithily when he wrote : "All countries (8) , for Gandhi, India." When we look at him in
this (9) , we realize that it was his universality and the (10) quality of his life and
thought that made Gandhi Gandhi.
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Q.59 Select the most appropriate option to fill in blank No. 10
Ans ?( 1. vanquished

4’ 2. transcendent
?( 3. extraneous

25 4. impetuous

Question ID : 864407177
Status : Answered
Chosen Option : 3

Q.60 Select the most appropriate synonym of the given word.

Surreptitious
Ans " 1. audacious

2% 2. forthright
{ 3. clandestine

K 4. avaricious

Question ID : 864407145

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.61 Select the most appropriate meaning of the given idiom.

To bear the palm

Ans X' 1 to be in a difficulty
Qf 2. to be the winner
K— 3. to be very rich

?(: 4. to bear the burden

Question ID : 864407151
Status : Answered
Chosen Option : 1

Q.62 Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. Destructive comments are cutting sarcastic remarks we spew out daily.

B. If people are asked to list the destructive comments made by them in the last 24
hours, they will quite often come up blank.

C. Such remarks serve no other purpose than to put people down.

D. This is because such comments were made without thinking so are erased from
memory.

E. They are meant to hurt them or assert ourselves as their superior.

F. However, the objects of our scorn remember every biting comment made at their
expense.

Ans  of 1. ACEBDF
/< 2. ABCDEF
/% 3. AEBCDF

/< 4. ADBECF

Question ID : 864407182
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1 ~ A 1

l Chosen Option : 2 J

Q.63 Select the correct passive voice of the given sentence.

Who will investigate cases related to funding of terror groups?

Ans \f 1. By whom will cases related to funding of terror groups be investigated?
?(: 2. By whom will cases related to funding of terror groups been investigated?
?(: 3. By whom will cases related to funding of terror groups be investigated by?

?(: 4. By whom are cases related to funding of terror groups being investigated?

Question ID : 864407124
Status : Answered
Chosen Option : 1

Q.64 Select the option that arranges sentences A, B, C and D in a logical sequence.

A. When the imprisoned king heard this, he somehow sent word to his son.

B. Long, long ago there was a king in Tibet who was kidnapped by his enemies.
C. "Don't waste any gold to get me back. Instead, spend money to bring good
Buddhist monks from India.”

D. They demanded a ransom of gold, equal to the weight of the king.

Ans o 1. BDAC
/< 2.CABD
/% 3.BCAD

/< 4.DACB

Question ID : 864407183
Status : Answered
Chosen Option : 1

Q.65 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

We seem to be blind in the fact that we are all to blame for the degradation of the
environment.

Ans ?{ 1. No error
\f 2. We seem to be blind in the fact
?{ 3. degradation of the environment

?{ 4. that we are all to blame for the

Question ID : 864407110
Status : Answered
Chosen Option : 2

Q.66 Select the correct passive voice of the given sentence.

Do not disturb me while | am preparing my project report.

Ans ?(: 1. I am not to be disturb while | prepare my project report.
( 2. | should not be disturbed while | am preparing my project report.
?(: 3. I should not have been disturbed while | was preparing my project report.

?(: 4. Let me not being disturbed while | am preparing my project report.

Question ID : 864407123


Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

1 Ao oA _ 1

l Chosen Option : 4 J

Q.67 Select the most appropriate meaning of the given idiom.

Close fisted
Ans « 1. miserly

?{ 2. very angry
KF 3. benevolent

?{F 4. revengeful

Question ID : 864407152
Status : Answered
Chosen Option : 2

Q.68 Select the most appropriate antonym of the given word.

Indolent
Ans X' 1. apathetic

?{ 2. phlegmatic
« 3. enthusiastic

?{ 4. lackadaisical

Question ID : 864407149

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.69 Select the correct active voice of the given sentence.

The urgency to conclude the Regional Comprehensive Economic Partnership had
been prompted by global uncertainties.

Ans ?{ 1. Global uncertainties has prompted the urgency to conclude the Regional
Comprehensive Economic Partnership.

Q_’ 2. Global uncertainties had prompted the urgency to conclude the Regional
Comprehensive Economic Partnership.

KF 3. Global uncertainties prompted the urgency to conclude the Regional
Comprehensive Economic Partnership.

?{ 4. Global uncertainties were prompting the urgency to conclude the Regional
Comprehensive Economic Partnership.

Question ID : 864407120
Status : Answered
Chosen Option : 2

Q.70 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

Mohan's mother asked him that if he had watered all the plants in the morning.
Ans ?{ 1. No error

?{ 2. Mohan's mother asked him
o 3. that if he had watered

?{ 4. all the plants in the morning
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Status : Answered
Chosen Option : 3

Q.71 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select 'No substitution'.

No other girl in the college is so prettier as her.

Ans ?{ 1. as prettier as her
KF 2. so pretty as herself
?{ 3. No substitution

{ 4. so pretty as she is

Question ID : 864407191
Status : Answered
Chosen Option : 4

Q.72 Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. You would have noticed maps in shopping malls that say, "You are here."

B. They also guide you about the location of various stores and eating joints and how
to get there.

C. They seem to be blessed with an internal compass that orients them automatically.
D. They are put up to orient you in unfamiliar territory, to tell you where you are.

E. But, there are some people who never need these maps.

F. They always make the correct turn and end up exactly where they intended via the
shortest route.

Ans ' 1 ABDCEF
o 2. ADBECF
/< 3. AECDBF

/< 4. ACEBDF

Question ID : 864407179
Status : Answered
Chosen Option : 2

Q.73 Select the most appropriate antonym of the given word.

Imperative
Ans KF 1. obligatory

?{ 2. obtrusive

nf 3. optional

?(: 4. ostentatious

Question ID : 864407148

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.74 Select the most appropriate synonym of the given word.

Apposite
Ans ?{ 1. contrary

{ 2. suitable
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o

< 4. debased

Question ID : 864407142
Status : Answered
Chosen Option : 4

Q.75 ldentify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

We should be cautious while placing our trust in others, specially in matters involving
money.

Ans « 1. No error

?{F 2. specially in matters involving money
KF 3. We should be cautious

?{F 4. while placing our trust in others

Question ID : 864407109

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.76 Select the correct active voice of the given sentence.

Are you frightened by snakes and spiders?

Ans ?(: 1. Will snakes and spiders frighten you?
( 2. Do snakes and spiders frighten you?
?(: 3. Did snakes and spiders frighten you?

?(: 4. Are snakes and spiders frightening you?

Question ID : 864407117
Status : Answered
Chosen Option : 4

Q.77 Select the option which correctly converts the given sentence into direct speech.

He has said that the soldier stuck to his post till further orders from the Captain of the
regiment.

Ans « 1. He has said, "The soldier stuck to his post till further orders from the Captain of the
regiment."

?(: 2. He said, "The soldier stuck to his post till further orders from the Captain of the
regiment."

KF 3. He says, "The soldier stuck to his post till further orders from the Captain of the
regiment."

?{ 4. He said, "The soldier sticks to his post till further orders from the Captain of the
regiment."

Question ID : 864407126

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.
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I was somenow surprisea wnen te man opposite me In tne train saia ne aia Not Smoke ana
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.

SubQuestion No : 78
Q.78 Which of these statements is NOT correct?

Ans 2{ 1. The man with the lighter had no cigarettes to declare to the customs officer.
2'{' 2. The lighter was actually a contraption to hide dollar bills.
2{ 3. The narrator was initially not aware of money being smuggled out of the country.

4’ 4. Everybody joined in the argument about the fur coat being a used article.

Question ID : 864407196

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.
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Q.79 What indicates that the customs officers were not much concerned about the goods of
the passengers?

Ans ?( 1. They trusted the passengers to declare their goods honestly before the authorities.
?{ 2. The customs officers were sure that everything was in order and no scrutiny was
required.

J 3. The officers checked a few cases at random but did not go through the contents
very thoroughly.

?( 4. The official collected passports wearily and stamped them mechanically.

Question ID : 864407195

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.

SubQuestion No : 80

Q.80 The narrator did not think much about the refusal of the man to lend the lighter
because

Ans ?( 1. he was busy filling in forms for the customs clearance.
?{ 2. he thought the man was not generous enough to share his fine lighter.
?( 3. the officials had come into the compartment to check passports.

J 4. he was distracted by the heated discussion going on about the customs
examination.

Question ID : 864407194

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.
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| was somenow surprisea wnen te man opposite me In the train said ne aid Not SmokKe ana
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.

SubQuestion No : 81
Q.81 Which word in the passage means 'giving full attention'?

Ans 2{ 1. extremely
2{ 2. rapidly
q’ 3. intently

2{ 4. wearily

Question ID : 864407198

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

| was somehow surprised when the man opposite me in the train said he did not smoke and
that he could not give me a light. | had been admiring the fine lighter which he had on the
folding table by the window and the least | expected of it was that it would work. But | did not
give the matter a second thought, for we were now rapidly approaching the frontier and
conversation on the customs examination we were soon to undergo was becoming quite
heated. We had been given forms to fill in and the lady beside me was arguing that a fur coat
which had been worn three times was a used article. Everybody joined in the argument
except the man opposite who kept gazing intently out of the window.

| finally grew bored with the discussion and was just trying to get some sleep when an official
came into our compartment and asked for passports. He collected them wearily, stamped
them mechanically and handed them back to us. No sooner had he left than the customs
officers entered. They were extremely polite and not much concerned about the goods we
had with us. They opened one or two cases which they did not examine too thoroughly, and
then asked each of us how much money we had with us and requested to see it. | learned
later that large sums of money were being smuggled out of the country.

The officers seemed satisfied that all was in order and were preparing to leave when one of
them casually picked up the cigarette lighter to light up his pipe. The man opposite me made
an involuntary movement and checked himself, saying that the lighter was broken. The officer
replied jokingly that was why he had no cigarettes to declare. The man stammered an
embarrassed reply and it was clear he was trying to hide something. The customs officer
noticed this too and offered to repair the man's lighter. He unscrewed the bottom of it and to
our amazement began to draw out a thick roll of dollar bills of high value. A lighter like this
was too valuable to be left lying around, the officer said and asked the man to follow him out
of the compartment.
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Q.82 Why did the customs officer unscrew the lighter?

Ans ?{F 1. The lighter was of very fine quality and too valuable to be left lying around.

( 2. He had grown suspicious because of the man's nervousness and his uneasy
demeanour.

?{F 3. He wanted to repair it as he had a strong urge to smoke his pipe.

?{ 4. He knew there were high value dollar notes hidden in the lighter.

GET IT ON

Google Play

Question ID : 864407197

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.83 Select the option which correctly converts the given sentence into indirect speech.

You said to her, "l am feeling tired and want to rest now."

Ans ?{F 1. You told her that | am feeling tired and want to rest now.

« 2. You told her that you were feeling tired and wanted to rest then.
?{F 3. She told you that she was feeling tired and wanted to rest now.

KF 4. You said her you were feeling tired and wanted to rest then.

Question ID : 864407132

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.84 Select the most appropriate meaning of the given idiom.

Cat and dog life

Ans ?(: 1. to wander aimlessly
\f 2. to be frequently quarrelling
?(: 3. to lead a nomadic life

?(: 4. to live in poverty

Question ID : 864407155
Status : Answered
Chosen Option : 4

Q.85 Select the most appropriate synonym of the given word.
Diligent

Ans \_’ 1. persevering

2% 2. didactic
< 3. languid

KF 4. prodigal

Question ID : 864407143

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.86 Select the most appropriate meaning of the given idiom.
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Ans 2 1_in one's favour

% 2.in a cheerful mood

K 3. in a disguise

« 4. in a comfortable situation

Question ID : 864407154
Status : Answered
Chosen Option : 1

Q.87 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

The green expanse which Rita, the chimpanzee played around in her prime days, lies
drearily vacant now.

Ans « 1. The green expanse which Rita, the chimpanzee
?{F 2. No error
KF 3. lies drearily vacant now

#< 4. played around in her prime days

Question ID : 864407111
Status : Answered
Chosen Option : 4

Q.88 Select the option which correctly converts the given sentence into indirect speech.
| said, "Let us not jump to a conclusion but wait till we get confirmation of this
rumour."
Ans ?(: 1. I suggested that let me not jump to a conclusion but wait till I get confirmation of that
rumour.
?{F 2. | said that we shall not jump to a conclusion but wait till we got confirmation of this
rumour.

Q_’ 3. | suggested that we should not jump to a conclusion but wait till we got confirmation
of that rumour.

KF 4. | said that we should not jump to a conclusion but wait till we get confirmation of this
rumour.

Question ID : 864407133

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.89 Select the most appropriate option to substitute the underlined segment. If no
substitution is required select 'No substitution'.

The player was so exhausted to continuing playing the match.

Ans ?(: 1. so exhausted to continue to play
?(: 2. No substitution
?(: 3. so exhausted to continuously played

Q_’ 4. too exhausted to continue playing

Question ID : 864407190
Status : Answered
Chosen Option : 3
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W.YU laentrty the segment that contains a grammaticai error. It tnere IS no error, seiect ‘No

Ans

Q.91

Ans

Q.92

Ans

Q.93

error'.

Not only the performers but also the audience deserve credit for the success of the

musical show.

KF 1. No error
#< 2. Not only the performers
KF 3. but also the audience

« 4. deserve credit for the success

Question ID : 864407115
Status : Answered
Chosen Option : 4

Select the correct passive voice of the given sentence.

The Archaeological Survey of India is building another museum to house excavated

objects from across the country.

|f 1. Another museum is being built by the Archaeological Survey of India to house
excavated objects from across the country.

?{F 2. Another museum is built by the Archaeological Survey of India to house excavated

objects from across the country.

?(: 3. Another museum will be built by the Archaeological Survey of India to house
excavated objects from across the country.

KF 4. Another museum has been built by the Archaeological Survey of India to house

excavated objects from across the country.

Question ID : 864407125
Status : Answered
Chosen Option : 1

Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. Douglas had a childhood fear of water which he tried to overcome at the pool.

B. This harrowing experience became his handicap and its memory haunted him for

long.

C. But just when he was trying to feel at ease in water, he had another misadventure.

D. It ruined his fun at the fishing trips and deprived him of the joy of boating or
swimming

E. A big bully tossed him into the deep pool and he almost drowned.

F. The fear of water stayed with him throughout his life.

/< 1. ABDECF
/% 2. AECDBF
o 3. ACEBDF

/% 4. ABCDEF

Question ID : 864407178
Status : Answered
Chosen Option : 4

Select the option that arranges sentences B, C, D and E in a logical sequence.
Sentences A and F are static.

A. Mountaineering is still a precarious task despite the protective equipment and
oxygen masks available to the climbers.

B. Another important factor for the success of a climber is his presence of mind which

can keep death at bay.
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U. Ine success Of tTne mountaineer Is uiimately aeterminea py nis stamina ana will
power.

E. These, of course, are indispensable accessories of climbing but what is more
important is the climber's stamina.

F. One false step can strike a fatal blow to the climber and bring disaster to the
expedition.

Ans  of 1 AEDBCF
< 2. AECDBF
#< 3. ADEBCF

75 4. ABECDF

Question ID : 864407180
Status : Answered
Chosen Option : 3

Q.94 Identify the segment that contains a grammatical error. If there is no error, select '‘No
error'.

Einstein was an unusual child with no indication at his potential greatness.

Ans X" 1. with no indication
2(: 2. No error
4’ 3. at his potential greatness

2(: 4. Einstein was an unusual child

Question ID : 864407106
Status : Answered
Chosen Option : 2

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.
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Q.95 In primitive man the hostility came into play when

Ans ?'{F 1. there was excessive inbreeding within a group
?(: 2. frontiers of groups were far removed
( 3. there was contact with other groups

X 4. economic motives became dominant

Question ID : 864407208

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 96
Q.96 For primitive man acquaintanceship often meant friendship because

Ans ?'{F 1. man was acting instinctively
?(: 2. resources were shared among the group members
( 3. small group size facilitated intimate friendships.

?(: 4. marriages were not allowed outside groups

Question ID : 864407209

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:
Read the passage and select the most appropriate options to answer the questions that
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In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 97
Q.97 What is the conclusion that can be arrived at from the passage?
Ans 2{ 1. Conflict within a group leads to evolutionary stagnation.
4’ 2. Individual initiative is necessary for progress and social cohesion is necessary for
survival.

?'{ 3. Progress is necessary for cooperation and devotion to the group is necessary for
survival.

?\'\ 4. Hostility is necessary for progress and social cohesion is necessary for survival.

Question ID : 864407210

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
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Q.98
Ans

Q.99

e TV S (R T

amount oT cooperaton but towaras all otner groups orf tne same species tnere was nostiity
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 98

According to the passage the practice of cooperation in man has its basis in

( 1. instinct

5 2. devotion
25 3.initiative

2{ 4. authority
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Question ID :

Status :

Chosen Option :

864407207

Not Attempted and
Marked For Review

Comprehension:

Read the passage and select the most appropriate options to answer the questions that
follow.

In all social animals, including man, cooperation and the unity of a group has some foundation
in instinct. This is most complete in ants and bees, which apparently are never tempted to
anti-social actions and never deviate from devotion to the group or the hive. Up to a point we
may admire this unswerving devotion to public duty, but it has its drawbacks; ants and bees
do not produce great works of art, or make scientific discoveries or found religions teaching
that all ants are sisters. Their social life, in fact, is mechanical, precise and static. We are
willing that human life may have an element of turbulence if thereby we can escape such
evolutionary stagnation.

Every man was a weak and rare species whose survival at first was precarious. At some
period, his ancestors came down from trees and lost the advantage of prehensile toes, but
gained the advantage of arms and hands. By these changes they acquired the advantage of
no longer having to live in the forests. But, on the other hand, the open spaces to which they
spread provided a less abundant nourishment than they had enjoyed in the tropical jungles.
Sir Arthur Keith estimates that primitive man required two square miles of territory per
individual to supply him with food. Judging by the anthropoid apes and by the most primitive
communities that have survived into modern times, early man must have lived in small groups
not very much larger than families- groups which, at a guess, we may put at say, between fifty
and a hundred individuals. Within each group there seems to have been a considerable
amount of cooperation but towards all other groups of the same species there was hostility
whenever contact occurred. So long as man remained rare, contact with other groups could
be occasional and at most times, not very important. Each group had its own territory and
conflicts would occur at the frontiers. In those early times, marriage seems to have been
confined to the group, so that there must have been a great deal of inbreeding, and varieties,
however original, would tend to be perpetuated. If a group increased in numbers to a point
where its existing territory was insufficient, it would be likely to come into conflict with some
neighbouring group, and in such conflict any biological advantage which one inbreeding group
had acquired over the other might be expected to give it the victory, and therefore to
perpetuate its beneficial variation. It is obvious that our early and barely human ancestors
could not have been acting on a thought out and deliberate policy but must have been
prompted by an instinctive mechanism- the dual mechanism of friendship within the tribe and
hostility to all others. As the primitive tribe was so small, each individual would intimately know
other individuals, so friendly feeling would be coexistent with acquaintanceship.

SubQuestion No : 99

When the ancestors of primitive man came down from the trees, they gained the
advantage of

i. prehensile toes

ii. arms and hands
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Question ID : 864407206

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.100 Select the option which correctly converts the given sentence into direct speech.

| asked him if it had never occurred to him that even the meanest profession could be
made to look dignified.

Ans Q_’ 1. | said to him, "Has it never occurred to you that even the meanest profession can be
made to look dignified?"

?(: 2. He said to me, "Has it ever occur to you that even the meanest profession can be
made to look dignified?"

KF 3. I said to him, "Have it never occurred to you that even the meanest profession can
be made to look dignified?"

?(: 4. | said to him, "Have it never occurred to him that even the meanest profession could
be made to look dignified?"

Question ID : 864407130
Status : Not Answered
Chosen Option : --
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